L=664.1m
A=272m2
A=1,701m2




01

14

13

12













14




13




12







20




10




11




12




13




14




10

15




11

12

16




13

17




14

15

18




15cm 7
10 11t
0.007
15cm 168 m2
15cm ) 6 m3
10 11t
6 m3

19




( )1 40mm
As (20) DS3000 168 m2
100mm 1 7 m2
168 m2

20




)1
(13

30mm

279

m2

21




15cm 14 1
10 11t
001
15cm 7 m2 2
15cm ) 0:3 m3 3
5 m3 8
3 m3 9
0.28m3( 0.2m3) 2 m3 10

22




18-8-40( ) m3 1

m2 12

12.5cm 17.5cm m2 13
400*400 T-25

23




6 C
300mm 14
1:3 03 m3 15
02 m3 2
« )
02 m3 16
( ) 10 11t
2 m3

24




)1
(13

30mm

m2

17

25




)1
(13

30mm

462

m2

18

26




)1
(13

30mm

348

m2

27




10

)1
(13

30mm

341

m2

28




1 C
15cn 4 1
10 11t
0.004
(
15 m2 19
( 0.6 m3 20
10 11t
0.6 m3

29




12

)1
(13

40mm

15

m2

21

15

m2

30




13

)1
(13

30mm

271

m2

18

31




14 C
15cm 5 1
10 11t
0.005
(
89 m2 19
( 3 m3 22
10 11t
3 m3

32




15

)1
(13

40mm

89

m2

21

89

m2

33




-5-21-1

34




m3

m3

35




8 -3- -1
1
15cm
() €)
[ ]

20cm @ 56cm

(

(

(
22
(

36




8 -3- -1
1
15cm
D) (D)
1
[J1]1 =1 [J2] =1 15cm
[J5] =1

37




-3- -1

15cm

m2

() (%)
[ ] 0.45m3( 0.35m3)
« )

1.2
[ 1

[01] =1 [021 =1

[33] = 1 [04] = 4 15cm

[J6] =1 71 = 1

38




8 -2-25-1
3
15cm ) m3
() €)
[ ]
10t
C )
1.2
[ 1
[J1] =3 [J2] = 3 15c¢i
[331 =1 DID DID [JA] = 5 11.5km
[ =1

39




8 -1- -1
4
( )1 40mm - As (20) DS3000 m2
D) (D)
[ ] 2.3 6.0m
8 20t
)
10 12t
« )
« )
« )

40




8
4
( )1 40mm As (20) DS3000 m2
() ()
As (20)DS3000
PK-3
1.2
C )
[ 1
[J2] = 40.000 mm 1 [J1] = 4 3.0m
[A1] = 20 As (20) DS3000 [34] = 3 PK-3
[J6] = 1 il =1
by2] =1

41




8 -1- -1
5
( 100mm 1 m2
() ()
[ 2
3.1m
[ 2
10t 2.1m
8 20t
« )
« )
« )

42




N —

8
5
100mm 1 m2
D) (D)
RM-30
1.2
(
L 1
[01] = 7 RM-30 [J4] = 100.000 mm
[J5] =1 [071 = 1

43




8 -1- -1
6
m2
D) %)
[ 2
3.1m
[ 2
10t 2.1m
8 20t
« )

1.2

44




N —

m2

()

Q)

1
[J1] = 1

[J4] =1

45




8 -1- -1
7
( )1 30mm 13) m2
() €)
[ ] 2.3 6.0m
8 20t
)
10 12t
C )
C )
C )

46




8 -1- -1
7
( )1 30mm 13) m2
() (%)
(13)
PK-4
1.2
« )
[ 1
[J2] = 30.000 mm 1 [J1] = 4 3.0m
[Al] = 14 (13) [J4] = 1 PK-4
[J6] = 1 [yll =1
2] =1

47




8 -1- -1
8
m3
Q) ()
( ) 2
0.28m3[ 0.2m3]
« )
1.2
[ 1
[01] = 1 [J2] = 5
[J5] = 1

48




8 -1- -13
9
m3
Q) ()
( ) 2
0.28m3[ 0.2m3]
L 1

60 80kg

« )
1.2
[ 1
[Ji] =5 ( [J2] =1

49




m3

()

Q)

[04] =1

50




8 -1- -1
10
0.28m3(  0.2m3) m3
Q) ()
[ 1
4t
(
1.2
L 1
[J1] = 2 [2]1 = 5 0.28n3(  0.2m3)
[J3] = 1 ( ) [041=1 DID DID
[] =9 7.5k

51




S

8
11
18-8-40( )
() ()
C )
18-8-40 W/C  60%
[ 1
1] = 2 =3
[N1] = 29 18-8-40( ) =1
[J7] = 1 =1
[NZ] =1 =1




S

12

m2

()

Q)

1
[J1] = 1

[J2] = 2

53




8 -2- -1
13
12.5cm 17.5cm m2
Q) ()

[ ] 0.8m3( 0.6m3)

« D

« )

« )
RC-40

1.2

54




13

12.5cm

17.5cm

m2

()

Q)

12.5cm

17.

5cm

[J2] = 8

40

55




8 -2- -1
14
300mm
D) (D)

C I 1

0.45m3[ 0.35m3]2.9t
« )
« )
« )
300mm

1.2

56




8 -2- -1
14
300mm
Q) ()
« )
L 1
[J11 =1 [J2] =3 300mm
[J3] = 2.000 [J4] =1

57




8 -4- -1
15
1:3 m3
() (%)
¢ B
25kg
[ 1
Bg - i [32] = 3 1:3

58




8 -2-25-1
16
) m3
(%) €))
[
10t
(
1.2
[ 1
[bi] =1 [J2] = 1
[J31=1 DID DID [JE] = 4 8.0k
[J] =1

59




N —

17

30mm

13)

m2

()

Q)

( )L ]
0.5 0.6t

L 1
40 60kg

C )

13)

PK-3

60




8 -1- -1
17
( )1 30mm 13) m2
() ()
1.2
« )
[ 1
[J2] = 30.000 mm 1 [J11 =1 1.4m 50mm
[A1] = 14 (13) [94] = 3 PK-3
[J6] = 1 il =1
by2] =1

61




N —

18

30mm

13)

m2

()

Q)

] 1.4 3.0m

4t

4t

62




N —

8
18
( )1 30mm 13) m2
() ()
13
PK-4
1.2
« )
[ 1
[J2] = 30.000 mm 1 [J1] =3 1.4m .0m
[A1] = 14 (13) [04] = 1 PK-4
[J6] =1 yi] =1
by2] =1

63




N —

19

m2

()

Q)

(

)
0.13m3[

2 ]
0.10m3]

1.2

[91] = 1

64




8 -2-25-1
20
m3
() (%)
[ 1
2t
« )
1.2
[ 1
[J1] =3 [J2] = 4
[J31 =1 DID DID [c] =9 7.0km
[P =1

65




N —

21

40mm

13)

m2

()

Q)

] 1.4 3.0m

4t

4t

66




N —

8
21
( )1 40mm 13) m2
() ()
13
PK-3
1.2
« )
[ 1
[J2] = 40.000 mm 1 [J1] =3 1.4m .0m
[A1] = 14 (13) [94] = 3 PK-3
[J6] =1 yi] =1
by2] =1

67




8 -2-25-1
22
m3
() (%)
[ 1
2t
« )
1.2
[ 1
[J1] =3 [J2] = 4
[J31 =1 DID DID [cy =7 4.5km
[P =1

68




